6-1 Notes.notebook December 14, 2012

Warm Up
r
1. Simplify: 3i - (x
Ox 5
2. Solve: 27 =18%32 N =

3. Solve: 4x =2x+ 12 <= (é

4.  Solve: x=436x16 = Q‘“{

6-1 Ratios, Proportions, and the Geometric Mean

Ex 1 Simplify the ratio.

a. 12km:3km ‘lk"“ - j_
b. 36in:9 ft
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Ex 2  The area of a rectangular garden is 108 square feet. The
ratio of the length to the width is 4:3. Find the length
and width of the garden.

Ex 3 The measures of the angles of ARST are in the
extended ratio2:3:4. Find the measures of the angles.

$0°

~0°
707 2wadxr =IO
=20



6-1 Notes.notebook December 14, 2012

Ex 4  Solve the proportion.
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Ex 5  There are 36 blue spruce trees in 3 acres of a forest. If
the trees are evenly distributed, how many blue spruce
trees are in a 50 acre forest?
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Geometric mean - Mv”';pL/ -;--l'«kg Fhe $q. rou‘,'
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Ex 6 Find the geometric mean of 36 and 54.
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